Problem solving and reasoning questions

1) Use just the digits 4 and 5 to create a 5-digit – 5-digit subtraction to give:
(a) an answer with at least two 9s (e.g. 19,489 or 39,992)
(b) 9091 exactly 
(c) the smallest answer you can get
(d) the largest? answer you can get


2) Be the teacher! Say whether these calculations are correct or wrong and explain the mistake that has been made:
 
	(a)	67,493	
       – 21,561 
          46,132

	(b)	50,005 
       – 44,878 
             5,127

	(c)       41,975
         - 32,18  
              9,795




3) Find the missing numbers in this subtraction: 
   1 2 ★ 6 2 				▲ =
–    9 3 ◼ 8 				◼ =
      3 1  1 ▲				★ =










Problem solving and reasoning answers

Use just the digits 4 and 5 to create a 5-digit – 5-digit subtraction to give an answer with at least two 9s.  e.g. 55,544 – 44,555.  Other answers are possible; the key is to have 4s in the first number in the same place as 5s in the second.
Can you get 9091?  54,545 – 45,454.
What is the smallest answer you can get?  55,555 – 55,554 = 1.
What is the largest?    55,555 – 44,444 = 11,111.


2) Be the teacher! Say whether these calculations are correct or wrong and explain the mistake that has been made:
 
	(a)	67,493	
       – 21,561 
          46,132 
Wrong because they have taken 5 from 4 in the hundreds, not exchanged 1000s. 
Answer: 45,932

	(b)	50,005 
       – 44,878 
             5,127
Correct 
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	(c)       41,975
         - 32,18  
              9,795 
Wrong because the digits are not lined up in the correct columns.
Answer: 38,757





Find the missing numbers in this subtraction: 
            5 12   
   1 2 4 6 2 
–    9 3 4 8 
      3 1 1 4   

Note the need to decompose the 60. 
These questions should be provided for children to do once the unit has been completed.  They assess the children’s mastery of the skills and concepts in this unit.  
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